o
(¥

<3 @> (rad)
<)
o R
)

.................

1 2 3
TP n (PCA to beamline)

< 5 cot(®) >
=
a1

o
(¥

..................

..................

0 1 2 3

B _Ul‘k%i_lldl SLE] ((Oar-prrast L=-TTewgeoTIT
D mKkFit_sTepZ_tthar- ﬁjasel-new eom
B -phasel-newgeom
D

wgeom
neric_step2 ttbargpﬁasel-newgeom

aza?)sglﬁeé?ge g(t_tgta\r?{) asel-ne

= 100

< od)(y > (“m

80
60
40

.........

.........

.........

P T

T
.
o
e

-1 0 1 2 3

<opJp,> (%)
O = N W N O

.........

.........

.........

el L - PR -

Ratio

~3E IR ([
| S e (L
eFau il i AR AR

0 . a

I=------ U g B4 I
05f------- L HAL -

F Il

-2

19
w

-1 0 12 3
TP n (PCA to beamline)

—

100

..........

..........

..........

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


